Accessory

TYPE II INTERCOM
HONDALINE’ CB TRANSCEIVER
CASSETTE DECK

Application Publications No.
HP 189 8112
GL1100 Issue Date
DECEMBER 1981

PREFACE

Congratulations on purchasing this quality
Hondaline Typell Audio system. This
booklet is your guide to the installation of
your new Hondaline Type I Intercom, CB
Transceiver Cassette Deck. Please take the
time to read the booklet carefully. (Your
authorized Honda dealer will be glad to pro-
vide further information or assistance and is
equipped to handle your further service
neegs.)

TOOLS REQUIRED

Ratchet and 12" extension

7 and 10 mm Sockets-

8, 10, and 14 mm Box wrenches
Drill

1/8", 7/32", 3/16", and 1/4" Bits
2.5, 4, 8 mm Allen wrench

#1 and #2 Phillips screwdrivers
Sharp knife or Razor blade
Hammer

Centerpunch

Masking tape

17 mm open-end wrench

PARTS LIST
= Intercom
Fig. 1
TEMPLATE INTERCOM CONTROLLER
4 SOCKET
BOLTS
s
&
% %
b )
COMPONENT
TERMINAL

. 2 CAP NUTS

BRANCH

LEAD
JUNCTION
LEAD CONNECTOR
\9 HOLDER
2 TIESN @
2 FUSES (1A) LEAD HOOK

= CB Transceiver

Fig. 2

CB INDICATOR
CB CONTROLLER

SOCKET HEAD
4 SOCKET
BOLT cap @ 2 _/BOLTS
SOCKET \c: ~J
BOLT
FLAT
WASHER

~®

L A o CB SWITCH
= SUB-WIRE
coLLAR—D)

4 CAP
CB PASSENGER
SWITCH NUTS (M5)
SUB-WIRE qé ‘
i ij CB MODULE
FLANGE
cB
PASSENGER / B % 2 FUSES (3A)
2 SEMS SCREWS (M5) /L3 6%;,

/ ANTENNA
DISTRIBUTOR

TEMPLATE

1of 11

HONDA MOTOR CO., LTD. 1981-All Rights Reserved

08118-MBS80-95  Printed in Japan
284-3603—00




m  Cassette Deck

Fig. 3

CASSETTE
DECK

CASSETTE
DECK
BASE

NUT PLATE

OVERALL LAYOUT

Fig. 4

2of 11

4 SEMS HEX
BOLTS (Mm4)

2 SEMS
SCREWS (M3)

NUT PLATE

INSTALLATION
m  Qutline Procedures

This paragraph deals with general outline
information needed for mounting the in-
dividual components on the fairing.

1) Remove fairing and fairing parts.
2) Drilling unit mount holes.
3) Install six wire clips.
4) Remove some radio parts.
5) Install CB indicator I on indicator panel,
then install indicalor panel on fairing.
6) Install CB module II.
7) Install Antenna distributor II.
8) Install CB switch sub wire.
9) Install CB controller IV. and Intercom
controller IX.
10) Install Component terminal V.
11) Install Branch lead.
12)Plug in all connectors to component
terminal.
13) Route wires inside fairing.
14) Install Cassette deck VI.
15) Install CB Switch VII on left handle lever
bracket and route wire.
16) Install CB Passenger switch VII.
17) Route Junction lead along with frame
Pipe.
18) Install fairing on motorcycle and connect
wires.

19) Confirm that all system operate properly.
Reinstall parts removed in step 1.




REWORKING
= Remove Fairing and Fairing Parts (Fig. 5)

1) Remove fairing from your motorcycle
when already mounted.

2) Remove right and left fairing pockets,
right and left turn signal lenses, right and
left nutplates and left hole cover indicator
base panel from fairing (Fig. 5).

Fig. 5

LEFT TURNSIGNAL
RIGHT TURN SIGNAL
INDICATOR BASE PANEL

RIGHT
POCKET

= Reworking on fairing (Fig. 6, 7, 8, 9)
(Drilling component terminal, CB module
and casset deck mount holes)

—CB, component terminal—

1) Lightly roll template so that it will follow
contour of fairing snugly.

2) Position template on fairing with s upper
and outer edges aligned with those of
fairing as indicated by arrows.

3) Attach template to fairing using adhesive
tape where shown.

4) Punch mark centers of four holes with a
drift and hammer.

5) Drill 6 mm holes through marked centers.

Fig. 6

ADHESIVE TAPE

COMPONENT TERMINAL

\h

6 mm HOLES

Fig. 7

CB MODULE
TEMPLATE

6 mm HOLES
ADHESIVE
TAPE

——~Cassette deck—

6) Punch mark centers of two holes with a
drift and hammer.

7) *Drill 8 mm holes through marked centers.

Fig. 8

6 mm HOLES

3of 11




8) Install six wire clips to temporarily
secure wires as shown,

Fig. 9

6 WIRE CLIPS

9) Install windshield on fairing before install-
ing speakers,
= Removing Radio Parts (Fig. 10, 11, 12)

Remove several radio parts from fairing
as follows when already radio mounted.

1) Pull out bundled wires through left turn
signal lens hole.

Fig. 10

4 of 11

2) Unbundle three ties and disconnect
adapter wire harness and RADIO/PA
JOINT WIRE.

Fig. 11

POWER
AMPLIFIER
CONTROLLER
SUB-HARNESS G
FAIRING WIRE
SWITHC WIRES

H RADIO

I
I

i i .% 53
.-

i
ADAPTER WIRE HARNESS

3} Disconnect and remove one antenna
feeder of two.

Fig. 12

ANTENNA
! YFEEDER

RADIO TUNER




INSTALLATION ON FAIRING

®=  CB Indicator Installation
(Fig. 13, 14, 15, 16)

1) Install CB indicator in right hole of in-
dicator panel. (Remove indicator panel
from fairing when already mounted.
Remove volt-meter from right hole when
already mounted and install it in central
hole and install two blind lid in both side
hole of volt-meter.)

|

Fig. 13

2 NUTS (M4)

ZZLOGK WASHERS (M4)
@ . - _—

CB INDICATOR

VOLT METER

2BLIND LIDS

2) Reinstall indicator panel on base bracket.

3) Rout indicator panel wire out through
right turn signal less hole.

Fig. 14

2SEMS SCREWS (m4)

TURN SIGNAL LENS
HOLE, AND ATTACH
TEMPORARILY BY
WIRE CLIP

WING NUTS

1)

2)

3)

4)

5)

CB Module Installation (Fig. CB-3)

Insert CB module and CB bracket (not yet
assembled) into fairing through right
pocket hole,

Insert CB module studs into holes in
fairing and install using a cap nut on each
stud loosely.

Insert CB bracket stud into holes of CB
module and then insert studs into holes
and install using a flunge nut on stud
loosely.

Insert CB bracket stud into holes in fair-
ing and install using a cap nut on each
stud loosely,

Tighten flunge nut securely first, and then
4 cap nuts,

Fig. 15

4 CAP NUTS (M5)

6)

7)

8)

9)

CB MODULE

FLANGE NUTS (M5)

Route wires (with fuses and miniture
connectors) under headlight and out
through left turn signal lens hole. Tem-
porarily secure wires with wire clips.
Route wires bounded with yellow tape
under headlight and out through left
pocket hole.

Remove vyellow tape from wires and
secure wires with wire clip temporarily.
Pass indicator wire out through right turn
signal lens hole and connect it to wire
from CB indicator.

50f 11




Fig. 16

s Antenna Distributor Installation
(Fig. 17, 18)

1) Install antenna distributor on left nut
plate as shown.

Fig. 17

' SEMS SCREW
COLLAR

ANTENNA

DISTRIBUTOR

CUSHION
RUBBER

6of 11

2) Pass antenna feeder of distributor in-
dicated “ANTENNA" out through round
hole above 9-pin connector.

3) Connect antenna feeder of distributor
indicated “AM/FM RADIO"” to antenna
feeder from radio tuner.

4) Connect antenna feeder of distributor
indicated ““CB-SET" to antenna feeder
from CB module.

5) Connect CB controller wire to wire from
CB module.

6) Tighten green ground wire with double
Sems screw.

Fig. 18

SEMS SCREW

CB ANTENNA
FEEDER 3

CB CONTROLLER RADIO ANTENNA

WIRE

TO COMPONENT
TERMINAL




= CB Switch Sub Wire Installation (Fig. 19)

1) Route CB switch sub-wire out through
left turn signal lens hole and secure with
wire clip as shown. (Route along radio
switch sub wire)

Fig. 19

CB SWITCH SUB WIRE

= CB Controller Installation (Fig. 20)

Remove CB controller blind lid from con-

troller holder and slide CB controller into
controller holder and install using four
socket bolts.

Fig. 20

INTERCOM CONTROLLER

CONTROLLER
HOLDER

CB CONTROLLER

SOCKET BOLTS (M3)

= Component Terminal Installation (Fig.21)

1) Insert component terminal into fairing

through left turn signal lense hole.

2) Insert component terminal studs into

holes in fairing and install using a cap nut
on each stud. Tighten securely.

3) Pull out wires through left turn signal lens

hole and secure with wire clip.

Fig. 21

CAP NUTS

COMPONENT
TERMINAL

= Branch Lead Installation (Fig. 22)

1) Pass branch lead in through hole above

9-pin connector and plug in to component
terminal.

2) Attach lead hooks and secure branch lead

with them where shown.

Fig. 22

COMPONENT
TERMINAL

LEAD HOOK
BRANCH LEAD

7of 11




= Connector Plugging in (Fig. 23) = Routing Wires Inside Fairing (Fig. 24, 25)
Plug in all connectors should be connect 1) Bundle all harness wires passed out of
to component terminal as shown. left turn signal lens hole (not yet con-

_ nected) with ties (1) and (2) ((a) in

ot Fig. INT-6).

COMPONENT TERMINAL . .
2) Connect Inter com wires and other wires
B\ ({(b) in Fig. INT-6).
~ 3) Connect audio main harness to sub
2 harness G, fairing wire and other wires
‘AR ((c) in Fig. INT-6).
4 “%%Q 4) Bundle wires and harness with ties as
B \%& shown ((d) in Fig. INT-6).
R &
% \ Ae o
Pl Sk, & Cr‘?l'?
N I :'S:%Tr((s‘?
A M0, 7€
qzh'dl\ 902’0 7.(, O?C',‘.
TNtk Ven
\ce fkf
8,
7
4
Ceq ey
5 . m BB
I M
. - < = w w Sw Ouw
Fig. 24 5 5 &2 i, e e = g c Ec
= By &= = w3 E - oz SF =R
" 28 3E - 5% § 8 I <88
&) oo O 25 [ 5] > '8 ma 83
< I ! s — {I=I=&=]
| S T— | r——— | waman | e i:f]
ﬁr
now | BhowN BLack ::DP !iE‘;EEEEOWNgI(ENF AED BLack |[mare \
U T 1T 1T
= —=|=|==a

al

INTERCOM WIRE

foRl A\

-

8 of 11




5) Press all bundled wires and harness into
fairing through left turn signal lens hole.

Fig. 25

= Cassette Deck Installation (Fig. 26, 27)

1) I'fpstall front and rear cassette deck nut
plates as shown.

2) Install Cassette deck base.

Fig. 26
4 SEMS HEX BOLTS (M4)

CASSETTE DECK BASE

SEMS
SCREWS (M3)

TO
COMPONENT
TERMINAL

/ TCASSETTE DECK
FRONT NUTPLATE

CASSETTE DECK REAR NUTPLATE

3) Route wire through left turn signal lens
hole and secure wire temporarily.
4) Set cassette deck in deck base.

Fig. 27

CASSETTE DECK

= CB Switch Installation
(Fig. 28, 29, 30, 31)

1) Install CB switch and Radio switch as
shown.

Fig. 28

(©)——SOCKET BOLT caP

SOCKET BOLT (M10 x 45)

FLAT WASHER (M10)

RADIO SWITCH &S

]
W}
COLLAR (LONG)

CB SWITCH
COLLAR (SHORT)

9 of 11




2) Route switch wire along with turn signal
switch wires and radio switch wire and
attach them to handlebar with wire bands
positioned where shown.

Fig. 29

3) Install 'CB passenger switch on rear
luggage as shown.

CB PASSENGER

Fig. 30 SWITCH

BAND RUBBER

4) Route CB passenger switch sub wire along
with antenna feeder.

Fig. 31

CB PASSENGER SWITCH
SUB WIRE

CONNECTOR HOLDER

INTERCOM JUNCTION LEAD
ANTENNA FEEDER
10 of 11

= Securing Junction Lead (Fig. 31)

1) Route the junction lead along the antenna
feeder and secure with plastic tie where
shown.

2) Attach connector holder to left side
cover, and insert passenger’s Din conector
in holder.

FAIRING INSTALLATION (Fig. 32)

1) Install fairing on motorcycle.

2) Connect motorcycle wire 9-P connector
and ground wire to fairing connector and
ground connection. Place connector cover
over connedions.

3) Connect radio switch wires to switch sub-
harness wires.

4) Connect CB switch wires and CB passen-
ger switch sub wires to CB switch sub
harness wires.

5) Connect antenna feeder to feeder from
distributor.

6) Connect branch lead to junction lead and
attach it and antenna feeder to fairing
mount flame with wire band.

Fig. 32

BRANCH / /
LEAD

CB PASSENGER
SUB-WIRE
CONNECTOR %7, 9-P CONNECTOR
HOLDER i

ANTTENNA

/ GROUND WIRE
FEEDER

JUNCTION LEAD




FAIRING HANNCS.'!

WIRE ROUTING AND FUSES (Fig. 33)

0

1) Connect all
minals properly.

wires to wire harness ter-

2) Fuses are located in left turn signal base.
To replace fuses, remove left turn signal.

RIGHT SPEAKER

GRAY

Fig. 33
- :
T z
F
e &
W, g
g [ 4
5 2 -
2
- I
u 2
- -4
o o
-
é 5
LEFT SPEAKER
3
g RADIO ca
< 2 INDICATOR INDICATOR
1 -
n =
s |
C () |
YELLOW [r———— FUSE 14
NTEAcoM | Ato e_r_D
BLACK GRAY
p———— CASSETTE BLUE -
GREEN
RADIO
RED
ER
G ) ml.lﬂﬂ FUSE 1A ra
(L RED
CASSETTE gy s [
ek O P |cn [ —
r HEADSET
WHITE
COMPONENT
TEAMINAL i
AL POWER cs
| AMPLIFIER MOOULE
\ "
| 4P BROWN | L
| L —
L < I 2
( 1 2 :
4 1 [4
o T [d
A (44
r > 2
| lﬁ 55 o —"
| : _[
- »
g
> ==
RADID
Y GmSin
ANTENNA
DISTAIBUTOR ¥ onsen - ANTENNA
m= CB SWITCH
=0 G e
CB PASSEN
- = o Svivem P
2P BRAOWN 2P BROWN
D -0

=
e

[

O o]

11 of 11






